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Write in your notebook

1. Doyou like to eat with others?

Answer:

Yes, | like to eat with others.

2. Onwhat occasions do you eat together with your friends?

Answer:

During functions, festivals and lunch breaks in our school, | eat together with my friends.

3. Have you ever had a party in your class? When? What all did you do to arrange a
party?

Answer:

Yes, we had many parties in our class, and one was held on Republic Day. We arranged a
cook, ingredients to prepare food, vehicles for pick up and drop, invitation cards and
sparkle lights.



4. What did you and your classmates bring to the party?

Answer:

We brought flags, balloons, sparkle powder etc., to the party.

5. What all did you eat?

Answer:

We ate shacks at first, then carried on with our lunch. For snacks, we had pastries and
cakes, and for lunch, we had dal, pulao, sabzi, puri and sweets.

6. Who were the people you invited to your party?

Answer:

Families of all the teachers and parents of students were the people invited to the party.

7. Were there some people who work in your school whom you could not invite? Who
were these people?

Answer:

No, all the people who work in my school were invited to the party.

8. Did you wear any special dress for the party?



Answer:

Yes, we wore party dresses for the function.
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9. What are the things that you can do to make the party greater fun for everyone?
Discuss.

Answer:

We can arrange a lot of activities, such as playing music, dancing, and eating
delicious food etc. For the Republic Day celebrations, we can sing Patriotic songs in
order to pay homage to the martyrs, followed by a stage play.
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Celebrating Bihu

1. Where is the festival of Bihu celebrated?

Answer: Bihu is the festival celebrated in Assam.

2. Which are the festivals that you celebrate together with other families?

Answer: Deepawali, Holi, Eid and Dussehra etc., are some of the festivals we
celebrate together with other families.

3. Does everyone cook and eat together at such festivals? What are some of the
special dishes that are cooked? How are they cooked?

Answer: No, everyone does not cook and eat together, but most of them celebrate
festivals together.

Gujhia, Pua, Dahi Bhalla and mutton are the special dishes that are cooked on Holi. Ans:
Biriyani and Sewai are the special dishes that are cooked on Eid.



Pua is cooked by frying maida in oil, whereas Sewai is cooked by boiling it in
sugar and milk.

. 4. Are some special vessels used for cooking these items? What are they?

Answer: A special vessel like Kadhai made up of iron is used for cooking dishes
like Pua, and Sewai is cooked in pans.

. Which is the biggest vessel that is used? Can you draw a picture of it? Can you
guess how many people can eat the food that is cooked in it at one time?

Answer: A big Kadhai is the biggest vessel that is used to prepare vegetables
Yes, more than 100 people can eat the food that is cooked in it at one time.
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Find out and do

1. Canyou guess how many people must have eaten together in the village
feast?

Answer:

More than 1000 people must have eaten together in the village feast.

2. Have you ever seen the Bihu dance? Did you like it?

Answer:

Yes, | have seen the Bihu dance on television, and | liked it.
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Find out and write in your notebook

1. Write about the food given in your school. If you do not get food in school, ask
a friend or someone else who gets food in school.



Answer:

Should be done by the students.

(a) What time is the meal served?

Answer:

The mealis served during the lunch hour at 1:30 p.m.

(b) What do you get in the meal at school?

Answer:

| get boiled egg, bread, vegetable, dal and rice in the meal at school. We get
different types of food daily.

© Do you like the mid-day meal that you get?

Answer:

Yes, | like the mid-day meal that we get.

(c) Is the food that you get enough for you?

Answer:

Yes, the food given is enough for me.
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€ Do you bring your own plate, or do you get it in school?

Answer: We bring our own plates to school every day.

(f) Who serves the food?

Answer: The food is served by the peon.



(g) Do your teachers eat with you?

Answer: Yes, our teachers eat with us.

(h) Is the week’s menu put up on the school board?

Answer: Yes, the week’s menu is put up on the school board.

(i) What will you get on Wednesday and Friday?

Answer: We get dal, boiled egg and rice on Wednesday, and roti, dal and
vegetable on Friday.

Chapter: the world in my house
Question 1:

In your home, do people quarrel over fans, TV, newspapers, chairs or anything
else?

Answer:

Yes, people at my home, especially me and my brother, quarrel over TV.

Question 2:

In your home, who settles such quarrels?

Answer:

Such quarrels between my brother and me are settled by ourselves.

Question 3:

Talk about an interesting incident at home when there was a quarrel over such
things.

Answer:Answer:



A couple of days back, my brother and | were fighting over TV. | wanted to watch
the movie Tangled, and my brother wanted to watch a cricket match. After a lot
of quarrels, we decided that whenever there were advertisements in between
the movie, we would watch the match scores.

Question 4:

Have you ever seen people quarrelling over something elsewhere? What?
Answer: Yes, | have seen people quarrelling over little things. For instance, | had
once seen two of my cousins fighting over who will use the laptop.

Let us talk

Question 1:

Does this kind of thing happen in your house or in any of your friend’s houses?
What do you think about this?

Answer:

Yes, this happens in one of my friends’ houses. My friend Riya is supposed to get
back home by 6.30 in the evening while her brother is allowed to stay out till 10
o’clock.

This sort of discrimination is very unfair and harsh on girls/women.

Question 2:

Do you think that there should be different rules for girls and boys, women and
men?

Answer:

No, I think the rules should be the same for all boys and girls, women and men.

Question 3:



Think —what would happen if girls had to follow the rules made for boys and boys
had to follow the rules made for girls?

Answer:

In any case, unequal rules will be unjust to one or the other gender. That’s why
it’s best to have the same rules for one and all.

Pilloo Aunty

Question 1:

If you were to write a different ending for this story, how would you end it?
Answer:

If I were to write a different ending for this story, | would end it like the following:
“But Pilloo Aunty paid the money for seven kulfis to the kulfi-seller.
Overwhelmed with Pilloo Aunty’s honesty, the kulfi-seller gave one extra kulfi to
her. Pilloo Aunty insisted that she just did what was right, and thus, the kulfi-
seller didn’t need to return any favour.”

Question 2:

Is there anyone in your family who is like Pilloo Aunty? Who?

Answer:

Yes, my father and mother are like Pilloo Aunty. They, too, are very honest and
never cheat anyone.

Question 3:

What would the children have thought if Pilloo Aunty had paid less money to the
kulfi-seller? What do you think about this?



Answer:

If Pilloo Aunty had paid less money to the kulfi-seller, the children would have
got the wrong message that it is okay to take advantage of someone and be
dishonest. We should always set good examples in front of children, as their
thoughts and habits depend on the elders around them.

What Should | Do?

Talk about it

Question 1:

What do you think Akshay will do?

Answer:

I think Akshay will drink the water because he must be exhausted.

Question 2:

Why was Akshay confused?

Answer:

Akshay was confused because his grandmother had told him not to drink or eat
anything from Anil’s house.

Question 3:

Why do you think Akshay’s grandmother warned him not to drink even water in
Anil’s house?

Answer:

| think Akshay’s grandmother warned him not to drink even water in Anil’s house
because both families were very different from each other.



Question 4:

Do you know of anybody who thinks like Akshay’s grandmother?

Answer:

Yes, one of my friend’s grandparents are also like Akshay’s grandmother.

Question 5:

Do you agree with Akshay’s grandmother?

Answer:

No, | do not agree with Akshay’s grandmother.

Question 6:

What do you think Akshay should do?

Answer:

I think Akshay should not create any sort of discrimination between Anil and
himself. He should drink the water offered by Anil.

Who Will Decide?

Talk about it

Question 1:

If you were in Dhondu’s place, what would you do?

Answer:

If Iwere in Dhondu’s place, | would have spoken to the elder uncle and
accomplished my wish.



Question 2:

Has it ever happened with you that you wanted to do something, but the elders
in the family did not allow you?

Answer:

Yes, once | wanted to participate in a competition at a faraway place, but | was
not allowed to participate by my father.

Question 3:

Who takes important decisions in your family? How do you feel about this?

Answer:

The important decisions in my family are taken by my father and mother
together. | think it is a good way.

Question 4:

How would you like it if only one person made all the decisions for your family?
Answer:

I would not appreciate it much if only one person made all the decisions for my
family. Any decision should be taken after consulting all the adults in the family
Question 1:

Have you ever disliked anybody’s touch? Whose touch did you dislike?

Answer:

Yes, | disliked the inappropriate touch of fellow passengers when | was travelling
on a public bus.

Question 2:



If you were in Ritu’s place, what would you do?

Answer:

| would also do what Ritu did. | would not have gone to Meena’s home.
Question 3:

What else can be done when such things happen? Discuss.

Answer:

Such things should be escalated to parents by the children.

Question 4:

Everybody’s touch is not the same. Ritu did not like it when Meena’s uncle held her hand,
but she liked to hold Meena’s hand. Why do you think there was this difference?

Answer:

There was a difference because Meena’s touch was a friendly touch, but Meena’s uncle’s
touch was inappropriate.



Question: 1

We can also make patterns with numbers

and letters. Below are a few examples. Can

you take them forward?

ABC

287

864

9

Answer:

ABC

287

864

DEF

27Y

764

109

DEF

27Y

764

109

GHI

26X

664

209

GHI

26X

664

209

JKL MNO
25W 24V
464
564
309 409



Question: 2

Now write your own humber patterns.

[ N[/ N\ [/ \ 7/
N7/ /4. /4

Answer:

[o \= [=N\w [= Nw/
N7\ /N




Question: 3

Make a pattern without numbers.

Answer: A pattern without numbers is given
below:

ABC DEF GHI JKL MNO PQR



Question: 4

Now, you try writing the letters — A, B,and C
in the box so that no letter comes twice in
any line.

Answer:



Question: 5

Now you fill these stars. Use numbers1-9
and the rule that the numbers on each line
add up to 15.

e

e

Answer: In the figure given below, the

(~

numbers are filled in the stars from 1to 9,
which adds up to 15 in each line.



Answer: In the figure given below, the
numbers are filled in the stars from 1to 9,
which adds up to 15 in each line.

o
)




Question: 7

Now, use numbers 1 = 6 to make your own
magic triangle.

Rule: Numbers on each side must add up to
10

~




Answer: The numbers from 1to 6 are
arranged in the figure below, which add up

4

to 10 in each line.

omd

Owowo



Number Towers
Question: 8

Using the same rule, completer these

number towers.




Question: 9

Now you write any number and the three
numbers after that. Make a pattern using
the rule.

See if you get the same sum.

Answer: The numbers using the same
pattern are given below:




Patterns with Addition

| + 2 + J = 6
2 + 3 + 4 = Y
3 + 4 + OB = 12 Oh! The sum
grows by 3
each time.
1 +H 2 J+f 3 JH 4 Jo 10
2 Jof 38 J+f 4 J+f 5 Jof 14
— 1B

grows by 4

Here, the sum 9 +f 4 J+f 5 J+f 6
each fime




- e

Now, you try to make such a pattern with 5
numbers in order.

Answer:

i e e
9 =




Question: 11

Does the sum grow by 5 each time?
Answer: Yes, the sum grows by b5 each time.
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Secret Messages
9 What are I am trying to read
you doing? the note my friend
gave me ..... but I

cannot understand it.

OK, let me see. |
It looks like a
secret message.




Question: 13

Teenu wants to write to his friend ‘Good
Morning'.

What will he write by using the same rule?
>
( ——

Answer:

G=/70=150=1bD=4
M=130=15R=1I8N=141=9N=14G =7

Hence, Good Morning can be written as
follows

S —
(15 15 4 13 15 18 14 9 14 7
__...--"'"'--"'"'-—_




Question: 14

If we change the rule and write 1in place of
‘B’, 3in place of ‘D’ and so on, then how will
we write ‘let us dance’?

>

Answer:L=11E=4T=19

U=20S=18
D=3A=26N=13C=2E=4

Therefore, ‘let us dance’ can be written as
follows

__-‘-""\-u_u-"-'--'__
(4 19 20 18 3 36 1B 2 @
____.--""‘--___________,_..-"""--_.___




Question: 15
What was Kahuli’'s secret message?

Answer: The new arrangement of letters for
the secret message is given below:



A[B|C|D|E|F |G|H|I |J|K|L—

BIC|ID|E|F|IG[(H|I [J|K]|L|M



L  MIN|JO|P |Q|R[IS|T|U|V

MIN[O|P|Q|R|S|TIU]V|W



/en below:

weoeriria wrie 'YE RCQFE



Hence, Kahuli's secret message was ‘XF BSF
GSJFOET’, i.e. WE ARE FRIENDS



Question: 16
What did Shablu and Jaggu write?

Answer: The secret message written by
Shablu is IFMMP! IPX BSF ZPV?" And ‘XJMM
ZPV QMBZ XJUI NF?’

Hence,

IFMMP! IPX BSF ZPV?' becomes — Hello! How

are you?

And 'XJMM ZPV QMBZ XJUI NF?' becomes —
Will you play with me?

The secret message written by Jaggu is
‘GJOF, UIBOL ZPV ZFTY

Hence, the secret message written by
Jaggu is — Fine, thank you. Yes!

~

Question: 17

Use the same rule to write — ‘Meet me on
the moon'.

Answer: ‘Meet me on the moon’ secret
message will be NFFU NF PO UIF NPPO.



Question: 18

Make different rules and ask your friends to
crack the secret message.

Answer: Let the new rule be — write ‘A’ In the
place of 'C’, ‘B" Iin the place of ‘D’ and so on.
The new key for this new rule will be as

follows:
A|lB|lC|DIEI|F|&|H]|I J | K |1
Y| Z I A |B|€ | D|EIE[G[H|Il [
L% Py

Now, write ‘I am Sorry’ by using this new rule.

The secret message for ‘Il am Sorry’ will be ‘G
YK QMPPW



Question: 19

Now, Anisha is playing with this card. Draw
what it will look like when upside down.

IR
L I
& h
o &

. .

o

Answer: The card, when made upside downI o
will look like as shown below:






Have you ever seen a floor with tiles of
these shapes?

Answer: No, | have never seen these shapes
of tiles on the floor.

(a) Now, you cover this floor with this tile.

Answer: Do it yourself.

(b) Can you make such a floor design with
a tile like a circle?

Try with this green tile without leaving a
gap. Could you do it? Discuss with your

friends.

Answer: Do it yourself.



(c) Complete this tiling pattern.

Answer: Do it yourself.

(d) Ramaiya has made a wall with his
blocks. Can you complete this for him?

e
N\

Answer: Do it yourself.



e) Renu began to paint thi
help her to complet eit.

4 4a4 /

e

{ [l //
g

Answer: Do it yourself



CBSE Class 4 Subject Mathematics
NCERT Solutions
Chapter -11
TABLES AND SHARES

Read the following passage and answer the questions that follow:
1. What are the ways in which the sunflower and marigold are planted?
Ans. 18 =6 3 So there are 6 rows with 3 plants each.

18 =2 9 So there are 2 rows with 9 plants each.

2. Can you think of other ways to make a shelf to keep 30 jars?

Ans. The other ways to make a shelf to keep 30 jars can be as under:

30=10 3 So, there are 10 rows with 3 jars each.

30=3 10 So, there are 3 rows with 10 jars each.

30=5 6 So, there are 5 rows and 6 jars each.

30=6 5 So, there are 6 rows and 5 jars each.

3. Draw a shelf. Show how many jars you will keep in each row. How many rows are
there?

Ans. A shelf to keep 30 jars is shown in the adjoining figure:

1/15



T

IS

wﬁjwﬁaﬁ Replace this image with 30 jars.
$TIY

b Zods 2ol Y

Yes, my friends make it in different ways as under:

30=10 3 So, there are 10 rows with 3 jars each.

30=5 6 So, there are 5 rows with 6 jars each.

4. Help bunty to make the table of 7, using table of 4 and 3.

Ans. Table of 4:

4 28 | L
Table of 3:
Table of 7:
3 g | == N e SE?“E

In fact, we have added the two respective numbers in the lowest boxes of 4 and table of 3 to
get the table of 7.
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5. Which two tables will you use for writing the table of 12?

Ans. The tables of 4 and 8 can be used for writing the table of 12.

6. How many cats?

Ans.
How many legs? 12 16 20 24 28
How many cats? 3 4 5 6 7

So, 28 legs mean 7 cats.

7. Billo has kept his chickens in a box. He counted 28 legs. How many chickens are

there?

Ans.
How many legs? 4 6
How many chickens? 2 3

So, 28 legs mean 14 chickens.

8. Leela has not gone to school for 21 days. For how many weeks was she away from

school?

Ans.
How many days? 14 21
How many weeks? 2 3

So, 21 days mean 3 weeks.

9. Jumping Animals:
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=__jumps.

7
(a) Count the jumps he takes to reach 27. So, he has taken —_
3

Ans. (a) So, he has taken 9 jumps.

(b) He has taken 12 jumps if he is at 36.

Ans. (b) Because —— =12
3

(c) If he is at 42, he has taken 14 jumps.

-

Ans. (c) Because — = 14.
3

(d) In how many jumps does he reach 25?
25

Ans. He will reach 25 in —— =5 jumps.

)

-

(e) He reaches 40 after taking 8 jumps.

Ans. (e) Because 8 5=40.

() He needs 11 jumps to reach 55.

Ly

5
—~ =11

And. (f) Because -
5
4/15

10. Sea Shells:



(a) How many shells are left now?

Ans. (a) 84 - 28 = 56 shells are left now.

(b) How many necklaces can Dhruv make from 112 shells?
Ans. (b) Dhruv can make 4 necklaces of 28 shells each from 112 shells.
(c) Are the shells enough for making necklaces for all his friends.

Ans. (c) Yes, the shells are enough for making necklaces for all his friends.

11. Try these:

(a) Kannu made a necklace of 17 sea-shellls. How many such necklaces can be made

using 100 sea-shells?

Ans. (a) Let us do this problem by the process of repeated subtraction.
(1) 100-17 =83

(2) 83-17 =66

(3)66-17=49

(4) 49-17 = 32

(5)32-17=15

Thus, Kannu can make 5 necklaces of 17 sea-shells using 100 sea-shells. He will also be left

with 15 sea-shells as unused.

(b) One carton can hold 85 soaps. Shally wants to pack 338 soaps. How many cartons

does the need for packing all of them?
Ans. (b) By the process of repeated subtraction, we have

(1) 338 -85 =253
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(2) 253 -85 =168
(3) 168 -85 =83

(c) Manpreet wants 1500 sacks of cement for making a house. A truck carries 250 sacks
at a time. How many trips will the truck make? A driver charges Rs 500 for a trip. How

much will Manpreet pay the driver for all the trips?

Ans. (c) By the process of repeated subtraction, we have

(1) 1500 — 250 = 1250

(2) 1250 - 250 = 1000

(3) 1000 — 250 = 750

(4) 750 — 250 = 500

(5) 500 - 250 = 250

(6) 250-250=0

Thus, the truck will make 6 trips to carry 1500 sacks of cement.
Driver’s charge for 1 trip = Rs. 500

Therefore, driver’s charge for 6 trips = Rs. (500  6) = Rs. 3000

Thus, the money paid by Manpreet to driver = Rs. 3000.

12. Gangu’s Sweets:
(a) Are the sweets in the tray enough to pack 23 small boxes?

Ans. (a) Laddoos needed for 23 small boxes at the rate of 4 per pack =4 23 = 92. Because 92

> 80, so the sweets in the tray are not enough.
(b) How many more sweets are needed?

Ans. (b) Number of more sweets needed = 92 - 80 = 12.
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(c) Gangu also has a bigger box in which he pack 12 laddoos. How many boxes does he

used he need for packing 60 laddoos?

Ans. (¢) Number of boxes needed for packing 60 laddoos at the rate of 12 per pack = 1_’* = 5.

13. Neelu brought 15 storybooks to her class. Today 45 students are present. How many

children will need to share one book?
Ans. Number of students = 45

Number of story books = 15

4

Number of children sharing one book= —— =3

1

L

L

Thus, 3 children will need to share one book.

14. A family of 8 people needs 60 kg wheat for a month. How much wheat does this

family need for a week?

Ans. Wheat needed by a family for a month =60 kg

-

Therefore, wheat needed by a family for a week = T | =15 kg.

- -

15. Razia wants change for Rs. 500. How many notes will she get if she wants in return.

g
Ans. (1) Number of notes required = = 00 =5
100
: 3
(2) Number of notes required = ——=10
: 5
(3) Number of notes required = =25

7115



£
(4) Number of notes required = = 00 =100

2

16. You have to distribute 72 tomatoes equally in baskets. How many tomatoes will

there be in each?
Ans. Number of tomatoes = 72

Number of baskets = 3

%
Number of tomatoes distributed equally per basket = —— =24,
3

17. There are 350 bricks in a hand-cart. Binod found the weight of a brick to be 2 kg.

What will be the weight of all the blocks?
Ans. Number of brick in a hand-cart = 350
Weight of 1 brick = 2 kg

Total weight of 350 bricks = (350 2) kg = 700 kg

18. How will Lokesh distribute the rest of the money? Complete it.

z
Ans. Lokesh will distribute the rest of the money, that is, Rs. 15 among 5 by finding le
=z

-

which is 3.

Or, it can be completed as under:

L
-
| e

. |I-.3'
L

Ly

b
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|
Lid
L

-
Ly

I
(-
Ly

T

Lokesh distributed Rs. 3 more. Now nothing is left. And all the money is divided equally.
So, each child gets 5 + 6+ 3 = 14 rupees.

Checking of answer:

Since, 14 5 =70, so answer is correct.

19. Now use your own method to divide Rs. 70 equally among 5 people. If you want you
can start by giving Rs. 2 to each. Or you can even start with Rs. 11 to each.

Ans. Let us start with Rs. 11 to each.

First, I give Rs. 11 to each.

—n
-
_|_

Lid

Ly
e
[

|
Ly
L

[
L

I
f—t
L

1< |

I have distributed 11 5 =55 rupees. Next, I give Rs. 3 more to everyone. I have distributed 5

3 — 15 rupees. Now nothing is left. And all the money is divided equally. So, each child gets
11+ 3= 14 rupees.

20. Can you start with Rs. 15 to each?

Ans. We cannot start with Rs. 15 as Rs. 15 5 = Rs. 75, which is more than Rs. 70.
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21.Try doing these:

(@ 5)65

Ans. (a)

10+3
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Ans. (f)
10+2
9y 108
- 90
18
- 18
0
@ 271232
Ans. (g)
100+15+1
:) 232
~ 200
32
-30
2
-2
0
(h) 21428
Ans. (h)

12 /15



200+100+4
2) 428

- 400
28

— 20

s

Je=s |G

(i) Meera made 204 candles to sell in the market. She makes packets of 6. How many

packets will she make? If she packs them in packets of 12 then how many packets will
she make?

Ans. (i) Number of candles = 204

-
Number of packets at the rate of 6 packets = ._El—l =34
6

30+4
6] 204

~180
24

—24

0

Thus, the required number of packets = 34.

204

12

Number of packet @ 12 per packet = =17.
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10+5+2
12) 204

- 120

Thus, the required number of packet = 17.

(j) On sports day 161 children are in the school playground. They are standing in 7 equal

rows. How many children are there in each row?
Ans. (i) Number of children = 161

They are standing in 7 equal rows.

Number of children per row = lT =23

Thus, there are 23 children standing in each row.

22. Now you look at the other picture and make questions like Srishti.
(a) There are 8 packets of rakhis. Each packet has 7 rakhis in it.

Ans. (a) How many rakhis are there in all?

Number of rakhis=8 7 =56

(b) There are 10 packets of sugar. Saurabha paid 110 rupees for all the packets.
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Ans. (b) What is the cost of 1 packet of sugar?

1100

Cost of one packet of sugar = ﬁ | rupees = 11 rupees

-

(c) There are 35 students in 7 rows. Each row has the same number of students.

Ans. (¢) How many students are there in each row?

L

. 3
Number of students in each row = — = 5 students

(d) Hari, Seema, Chinku and Lakshmi are going to Guwahati. The cost of one rail ticket
is Rs. 62.

Ans. (d) How much is the cost of four rail tickets?

Cost of 4 rail tickets =Rs. 62 4 = Rs. 248.

(e) One metre of cloth cost Rs. 20. Lalbiak bought some cloth and paid Rs. 140.

Ans. (e) How many metres of cloth was bought for Rs. 140?

-

71407
Length of cloth bought for R. 140= — | m=7m.

5 -
e
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Northland Public High School
Summer Assignment
Class: 4™
Subject: Islamic studies
Topic: Haram in Islam
A. Tick () or Cross (X).
1. Stealing is a good habit. (%)
2 Allah wants us to be kind to our parents. (V)
3. Without taking permission, we should take anything . (x)
4. Disobedience to parents is a great sin. (V)
B. Match the following
1.Haram activities — Activities forbidden by Allah
2.Halal activities — Activities allowed by Allah
3.Stealing- Halal Activity
4.0bedience to Parents — Haram activity
C. Fillin the blanks.

1. Stealing is haram in Islam. (halal, haram)

2. Never try to possess things belonging to others.
3. Our parents work hard for our well-being.

4. Disobedience to parents is the second major sin after shirk and kufr.




CLASS 4th ASSIGNMENT FOR SUMMER BREAK

shahid majeed

june 2025

1 WORKING WITH POWERPOINT 2016

Students are advised to do thorough reading of the chapter and write the solutions on their respective
notebooks. practical work related to chapter shall be done in school only after the resumption of regular
classwork.

(A) TICK THE CORRECT OPTION.

1) A PowerPoint presentation is made up of a series of

ans) Slides

2) e allows you to create text effects that are not available through font formatting.

ans) WordArt

3) What is known as the arrangement of text, graphics, images, etc. in a slide?

and) Slide Layout.

4) Which view shows the miniature version of a slide?

ans) Slide Sorter view.

FILL IN THE BLANKS

1) ROTATE

2) SLIDE LAYOUT

3) MOVING

4 ) SAVED PICTURS

5) SLIDE SORTER

(C) Write ”T” for true and ”F” for false

1) F

2)F

3)F

4) T

SHORT ANSWER TYPE QUESTIONS

1) What is slide layout?

ans) Slide layout is the arrangement of text, images, charts, etc. on a particular slide.

2) In which view can you change the slide layout?

ans) Normal view allows you to change Slide layout.

3) Name three types of smartArt.

ans) List , Process, and cycle.

LONG ANSWER TYPE QUESTIONS

1) Write the steps for inserting SmartArt in a presentation.

ans)

(i) Click on SmartArt command in Insert tab.

(ii) Select a diagram type from dialog box.

(iii) Change design of diagram you want to insert.

(iv) Click ok button and click on text boxes to enter your text.

2) Write the steps to apply shadow effect.

ans)

(i) Select the text



(ii) Click on Text Effects command in Format tab.
(iii) Hover mouse over shadow category.

(iv) Click on any effect to apply it.

Write steps to insert online picture in your presentation.

(i) Click on Insert tab.

(ii) Click on Online Picturs command.

(iii) Choose the required picture and click on the Insert button.
ATTEMPT PERIODIC ASSESSMENT 3 BY YOURSELF



2 MORE ON INTERNET

Students are advised to do thorough reading of the chapter and write the solutions on their respective
notebooks. practical work related to chapter shall be done in school only after the resumption of regular
classwork.

(A) TICK THE CORRECT OPTION.

1) Buying goods online is called online

ans) Shopping

2) Which of the following in an online communication system?

ans) E-mail

3) Which of the companies owns chrome web browser?

ans) Google

4) What is another name for unique address assigned to every website?

ans) URL

FILL IN THE BLANKS

1) INFORMATION

2) SEARCH ENGINES

3) DOWNLOADING

4) UPLOADING

SHORT ANSWER TYPE QUESTIONS

1) Define Internet.

ans) Internet is a medium between different computers and handsets to share information.

2) Name any three social networking websites.

ans) Facebook, X and Linkedin.

3) What do you mean by downloading?

ans) Getting the data from the host computer to the client computer is known as downloading.

LONG ANSWER TYPE QUESTIONS

1) Write any two uses of internet.

ans) We can access huge amount of information free of cost on internet, we can also connect to our loved
ones through Internet.

2) What are the things required to connect to internet?

ans) The things required for having an internet connection are:

* Computer system

* Modem

* Networking

* Web browser

* ISP
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Class:4™ .

Subject: Quran

Recite and memorize Surah-tul Bayyinahte madaniyah



Written in March chap 11
Think and Answer Page No. 204

1. Choose the correct option:

1. @) The ploughboy is at the top /
bottom of the bare hill.

Ans. The ploughboy is at the top of the
bare hill.

1. b) There is joy / sorrow in the
mountains.

Ans. There is joy in the mountains.
(c) The cattle are grazing/ploughing.
Ans. The cattle are grazing

(d) The small birds glitter/twitter.
Ans. The small birds twitter.

(e) The cattle/clouds are sailing.

Ans. The clouds are sailing.



(f) There is life/sand in the fountains.

Ans. There is life in the fountains.

(g) The people are working/sleeping in
the fields.

Ans. The people are working in the fields.

(h) The cattle aren't raising their
tails/heads.

Ans. The cattle aren't raising their heads.

(i) The poet compares snow with
defeated players /army.

Ans. The poet compares snow with the
defeated army:.

2. What are the people doing in the
poem?

Ans. The people, the oldest and the
youngest are at work with the strongest
in the flelds.



3. Why aren't the cattle raising their
heads?

Ans. The cattle are busy grazing and

therefore do not raise their heads.

4. What does the poet compare snow
with?

Ans. The poet compares snow with a

defeated army.



Adventure in the Forest Question
Answers

Stop and Think Page No. 216

1. Gogaldara has
(A) Pine trees
(B) Deodar trees
(C) BothAand B
(D) Pine, Deodar and Fig trees
Ans. (C) Both Aand B

2. Trees in Gogaldara forests are tall
because of

(A) Rain
(B) Snow
(C) Sunlight

(D) Rain, Snow and Sunlight make the



Ans. (D) Rain, Snow and Sunlight make

the soil fertile.

3. Trees in Gogaldara have

branches and have leaves.

Ans. Trees in Gogaldara have dense

branches and have long leaves.

4. Name the animals found in the
Gogaldara forest.

Ans. Bears, Tigers and Monkeys are
found in the Gogaldara forests.



1. What happened when the boys
went out in the woods?

Ans. The boys lost their way when they
went out in the woods but fortunately
they found their way back to their camp

site.

2. How did the boys feel on hearing
the sounds of animals around
them?

Ans. The boys got scared when they
heard the sounds of animals around

them.
Think and Answer Page No. 221

1. Why did the boys did not move at
all?

Ans. The boys did not move at all
because they saw a bear not far from
them and they did not want to make

noise and let the bear attack them.



2. What did Atif take out of his
pocket?

Ans. Atif pulled a brown paper bag out of
his pocket which had some sweets and a

balloon.
3. What happened to the bear?

Ans. When bear heard the bang of the
balloon, he roared angrily and turned

back to woods.
Adventure in the Forest Language Work

1. Write the following words in
alphabetical order. One has been
done for you.

2.1i) tall, plants, trees, pine

Ans. pine, plants, tall, trees
(ii) monkeys, tigers, forest, bears a

Ans. bears, forests, monkeys, tigers



(i) monkeys, tigers, forest, bears a
ANs. bears, forests, monkeys, tigers
(iii) rain, sunshine, soil, snow

Ans. rain, snow, soil, sunshine

(iv) ground, new, bark, neigh

Ans. bark, ground, neigh, new

(v) walk, tour, run, fly

Ans. fly, run, tour, walk

(vi) jungle, zoo, bear, snow

Ans. bear, jungle, snow, zoo



() animal
(i) big

(iii) soun d
(iv) | i sten
(v) sky

(viysmall
(vii) grass

(viii) ball 0 on

The alphabetical order of the words is as
under:

animal, bag, balloon, big, grass, listen,

sky, small, sound.



